WAT-1, WA At
PART-I, MENTAL ABILITY

Prfor: T awis 1 ¥ 5 § us avh & ¢ # R
A UF T o g 81 39 s g () ¥ v
T 21 9% GEw R T8 AR faeedt § ¥ s 2

el fower gfaai
1. 1,4,27,16,7.36, 343
(A) 25 (B) 87
(C) 120 (D) 125
2. 4,7,12,19, 28, ?
(A) 30 (B) 36
(C) 39 (D) 49
3. 10, 18, 28, 40, 54, 7, 88
(A) 68 (B) 70
(C) 71 (D) 74
4. 4,12, 36,108, ?
(A) 144 (B) 216
(C) 304 (D) 324
5. 1,925, 49, 7, 121
(A) 64 (B) 81
(©) 91 (D) 100
6. 9T H Hay N A 8 W vER FE I Ty
B . T
(A) stf (B) diHe
(C) fagt (D) Frd
7 ammmamgﬁuamﬁé 34t THR T
Hﬁ'ﬁlﬂ % ............ H :
(A) Tt (B) &
(C) TFA (D) yait
'8, gHeAT W YR ATUETdt ¥ deftd 7, 39
THER T FT GG & .o, ¥
(A) 3UER (B) z@m®
(C) =zl (D) sfFRX
NE
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Direction : In question Nos. 1 to 5 there is a number
series with one term missing shown by question mark
(7). This term is one of the following four alternative
given, Choose the correct number from options.

1.

1, 4,27, 16, 7, 36, 343

(A) 25 (B) 87
(©) 120 (D) 125
4,7,12, 19, 28, 2

(A) 30 (B) 36
(C) 39 (D) 49
10, 18, 28, 40, 54, 2, 88
(A) 68 (B) 70
(©) 71 (D) 74
4, 12, 36, 108, ?

(A) 144 (B) 216
(C) 304 (D) 324
1,9, 25, 49, 7, 121

(A) 64 (B) 81
(C) 91 (D) 100

Bread is related to Wheat in the same way
as Brick is related to ............ ;

(A) Fire (B) Cement
(C) Clay (D) Building

Waves is related to Air in the same way as
Ripples is related to ........... :

(A) Water (B) Wind
(C) Storm (D) Smoke

Accident is related to Carefulness in the
same way Disease is related to .......... :

(B) Medicine
(D) Doctor

(A) Treatment
(C) Sanitation

P.T. O.



forder : 9w i 9-13 # RY 7 wee weA & @l
©H ¥ UF yeaes fUe Ra w8, R m =R
fomredl & ¥ U faweq ol dey gwim 2, S f
faweg gfa

9, H@;W::ﬂﬁfﬁrﬂ:?

(A) 57 (B) fafsra

(C) i (D) 9
10 T : e : : FeT: ?

(A) wEilas (fe)

(B) amEes (TR FHEITH)

(C) 3Ed W

(D) T%
1. 3T - ot ;- g‘é v 7

(A) foerg (B) &I

(C) i (D) &
12. gt - gd :o: 9EmH : ?

(A) F (B) 3Tl

(C) (D) g=it
13. o7 : IW-ufvEw : : qfvEq : ?

(A) © (B) =R

(C) -9 (D) fRqor-ufeem

14. f&8 ©& W § MYSTIFY & H2-Hd
NZTUJGZ feran smar 8, 38 w1 § NEMESIS
& FE-Heba @M ?
(A) MDLHRDR
(C) ODNHTDR

15. {5 g § SIKKIM & THLJJL ferar s
21 3@ FT § TRAINING & &5 &1 foran
M ?
(A) UQBHOHOF
(C) UQBIOHHO

(B) OFNFTIT
(D) PGOKUGU

(B) SQBHOHOH
(D) UQBJOHOH
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Direction : In question No. 9-13, there is a question
mark in the blank space and it is only one of the four
alternatives given under the question which satisfies
the same relation as is found between the two patterns
to the left of the sign : : given in the question. Find
the correct alternative.

9. Clock : Time : : Thermometer ; ?
(A) Heat (B) Radiation

(C) Energy (D) Temperature

10. Hot: Oven: : Cold : ?
(A) Refrigerator
(B) Air Conditioner
(C) Ice Cream
(D) Snow

11. Ornament : Gold : : Needle : ?
(A) Stich (B) Steel
(C) Tip (D) Thread

12. Earth : Sun : : Moon : ?
(A) Orbit (B) Sky
(C) Star (D) Earth

13. South : North-West : : West : ?
(A) East (B) South
(C) North-East (D) South-West

14. In a certain language MYSTIFY is coded as
NZTUIGZ, how is NEMESIS coded in that
language ?
(A) MDLHRDR
(C) ODNHTDR

(B) OFNFTIJT
(D) PGOKUGU
15. In certain Code SIKKIM is written as

THLJJL. How is TRAINING written in that
Code ?

(A) UQBHOHOF
(C) UQBJOHHO

(B) SQBHOHOH
(D) UQBJOHOH



16.

17.

18.

19.

20.

21.

22.

NE

(A) 25 5

ffl sms1 § POPULAR ¥ & z-¥ehd
QPQVMBS ferar w8, s fofe wiss &
$-Ghd GBNPVT @ ?

(A) FAMOSU (B) FAMOUS
(C) FASOUM (D) FOSAUM
I PAINT & F2-Toha 74128 791 EXCEL

T FE-Gha 93596 § fmm W §, @ a9
ACCEPT & -G = ferd ?

(A) 554978 (B) 735961
(C) 547978 (D) 455978

gfe Z = 52 @91 ACT = 48, & df BAT & I
E?MT:

(A) 39 (B) 44
(C) 46 (D) 50

frr & @ fim & gfR—

(A) FH (B) @

(C) T (D) e

% ARen 4 TF A & ey uE R 5

a8 IH W & WE & @ @1 39 A &
ofeer @ w1 Ty g 7

(A) =0 98 (B) T

(C) s (D) e

T 1 AR G @1 A, o9 9 2
Uy 3G & fUdr &1 9 @ |y ¥ w
fiwar & ?
(A) &
(C) g
3T STHY H T 21 9 ¥ UF A a1

SR AT IW & 12 WA A B IF H
TH & SR SAH F I AT & ?

(B) 27 7§
(D) 22 o

(B) dram
(D) TSt

(C) 20 T%

16.

17.

18.

19.

20.

21.

22.

If in a certain language, POPULAR is coded
as QPQVMBS, which word would be coded
as GBNPVT ?

(A) FAMOSU
(C) FASOUM

(B) FAMOUS
(D) FOSAUM
If PAINT is Coded as 74128 and EXCEL is

coded as 93596, then how would you code
ACCEPT ?

(A) 554978
(C) 547978

(B) 735961
(D) 455978

If Z =52 and ACT = 48, then BAT will be

equal to :
(A) 39
(C) 46

(B) 44
(D) 50

Choose the odd one out from following :
(A) Ear (B) Eye

(C) Nose (D) Throat

A woman introduce a man as the son of the

brother of her mother, How is the man related

to the women ?
(A) Cousin
(C) Nephew

(B) Son
(D) Grandson
Manoj has brother Pankaj. Manoj is the son

of Ajay. Somesh is Ajay's father. How Pankaj

is related to Somesh ?
(A) Son
(C) Brother

(B) Grandson
(D) Grand Father

Today is Akash's Birthday. One year from
today, he will be twice as old as he was 12
years ago. How old is Akash today ?

(A) 25 years
(C) 20 years

(B) 27 years
(D) 22 years

P.T.O.



23.

24.

25.

26.

217.

28.

29.

NE

& U &1 3§ 99 oA [ & 3W /AW
T #1 99 e gee R & 3@ o T @
IR T M T A W et & (I H) -
(A) 12 (B) 15

(€) 18 (D) 20

af et 7R i 74 adfe @1 AR PEER |
@ e weat 8, @ 38 wEw A 194 @

F P G aX B ?
(A) FFER (B) THR
(C) YBFER (D) MR

TiHaR & T RE9 F EE 91 39
e e & 144 aiffe w1 @ R @
GHTYT AT 14 dERE H BT W AL 4@ ?
(A) HFa (B) T&aR

(C) HTEEr (D) WifER

% Fer o aferd @ ot (%) W ¥ g
7 A9 ¥ o 31w § 3o fea em
g2

(A) 34 (B) 33

(C) 32 (D) 31

us ufR § 40 wsfedl § § qo & 9 9
%9 dicgdl &1 3UH U a9 § & 8 ?

(A) 274t (B) 263t
(C) 254 (D) 244
TS s ST e # S g S @S 7

T 1350 amEd (TEdis aEd) A 2|
IS T1F 1800 RIS FHAT &1 3 ITH 7
form R & @ 2

(A) SH-T (B) aRmur-ufvaw
(C) SW-ufg=m (D) aRyur-gd

TS aferehl 30 At SW N T I 8, 3D
e T W qEH 40 WX Fer 8, ad T
TRl S qea 20 WX Ted 8, T I T
e 40 HieT werd 81 379 98 o9 A W
¥ fp e w g ?
(A) 0 HeT
(C) 20 #iexX

(B) 40 HreX
(D) 10 #X

23.

24,

285.

26.

27.

28.

29.

A father is now three times as old as his son,
Five years back, he was four times as old as
his son. The age of the son (in years) is :

(A) 12 (B) 15
(C) 18 (D) 20
If the seventh day of a month is three days

earlier than Friday, what day will it be on the
nineteenth day of the month ?

(A) Monday (B) Wednesday
(C) Friday (D) Sunday
Saturday was a holiday for Republic Day,

14th of the next month is again holiday for
Shivratri. What day was it on the 14th ?

(A) Monday (B) Thursday
(C) Tuesday (D) Saturday
Lalit ranks seventh from top and twenty-sixth

from bottom in a class. How many students
are there in the class ?

(A) 34 (B) 33

(C) 32 (D) 31

Pooja is fourteenth from the right end in a row of
40 girls. What is her position from the left end ?
(A) 27th (B) 26th

(C) 25th (D) 24th

A man is facing South. He turns 135 in the
anti-clockwise direction and then 1809 in the
Clockwise direction. Which direction is he
facing now ?
(A) North-east
(C) North-west

(B) South-west
(D) South-east

A girl goes 30 meters North, then turns right
and walks 40 meters, then turns right and
walks 20 meters, then again turns right and
walks 40 meters. How many meters is she
from the original position ?

(A) 0 meter (B) 40 meters
(C) 20 meters (D) 10 meters



30. ﬁﬁﬁﬂﬁqm#—ﬁamﬁ(w, FR, )
¥ gy 9 @ 9 § e s g ?

Nolle
© (D)
69 (e

foder : o9 o @1 e FifT W@ T A
31 ¥ 33 & W ARd
fa=

5 7

1 E 8
3 9 4
g 2

31. aa & fEl # a1 gl gemet & g |/
2?2

(A) 6 (B) 15

(C) 20 (D) T o +E &
32, Faa dF feEll # ot arelh Tt @ rHwe

e ?

(A) 27 (B) 162

(C) 648 (D) T § P T

33. %A U fag H o1 areht desdi @ am
2?
(A) S (B) 16
(©) 21 (D) & ¥ 3 T

et - 9 & 7 Soft F1 sremga Wt a9 W9 HEIS
(34) @ (35) & IW &I

groft
6,4,1,2,2,8,7,4,2,1,5,3,8,6,2, 1,7,
I 4,3,1,2,8.6

34, UH frad gEEEl & He Sie § e gensd
F R TAF H 2 F a7 ?

(A) =X (B) ui"
C) ®: (D) §md

NE [7]

30. Which of the following Venn-diagram
correctly illustrate the relationship among the
classes (Bus, Car and Vehicle) ?

@ o0
<69 =(c

Direction : Study the figure given below and answer
the question no. 31 to 33.

Figure

31. What is the sum of the numbers which
belongs to two figures only ?

(A)6 (B) 15
(C) 20 (D) None of these

32. What is the product of the numbers which
belogns to the three figures only ?

(A) 27 (B) 162

(C) 648 (D) None of these
33. What is the sum of numbers which belong to

one figure only ?

(A) 5

©) 21

(B) 16
(D) None of these

Directions : Study the number series given below
and answer the questions (34) and (35).

Series
6* 43 l’ 25 2’ 83 7,.4! 2’ l’ 5—? 3, 83 6? 2, ]} 7?
Lol 3 T2l B 6

34. How many pairs of successive numbers
having difference of 2 each ?

(A) Four (B) Five
(C) Six (D) Seven

P.T. O.



35 o wemst f emgfy W @ 2
(A) 4,6, 8 (B) 1,4, 6
© 523 (D) 4,5, 7

fador : o= o & egEs atergA T q9r g
FAF (36) W (37) F W HRn

e :1,2,3,4,5,6, 7 8 F w0 B

36. HF W &7 IT YR st H 4w g S
f MmEw T 8 ?

(A) S (B) 4
)3 (D) 2

37, F9 O &9 39 A MIH HGam@ 3, S
fe & 2
(A) 3
©) 1

(B) 4
(D) 2

ooy w9iE (38) ¥ (42) ¥ 19 URVERER I
Hfdt R vy g () ¥ i ™ € ?

38.

13 19 71 g 128 32
4 10 \?(
(A) 10 (B) 15
(C) 20 (D) 25
39, 20160| — 4
? 4
480 8
96 24
(A) 2880 (B) 2800
(C) 2400 - (D) 1920

NE [8]

35. Which figures have equal frequencies ?

(A) 4,6, 8 (B)1,4,6
©1,23 (D)4,5,7
Direction : Study the following figure carefully

and answer the question number (36) and (37).

Leaders

Indidns

Singers

Note : 1, 2, 3, 4, 5, 6, 7 shows the region.

36. Which region denotes Indian Leaders who

are not singers ?
(A) S
(©)3

(B) 4
(D)2

37.  Which region represents Indian singers who

are not leaders ?
(A) 3
O 1

(B) 4
(D)2
Direction : In question numbers (38) to (42) find

the missing number/character marked with question
mark (?).

38. 13 19 71 9 128\(32
10 ?
(A) 10 (B) 15
(C) 20 (D) 25
20160| 4
39, ; p
480 8
96 24
(A) 2880 (B) 2800
(C) 2400 (D) 1920



40. : 40.
3
(A) 10 (B) 12 (A) 10 (B) 12
(€) 13 (D) 15 ()13 (D) 15
41. 5 | 4| 9 41. 5 F 4 | 9.
6 3 7 [ 3 ?
7 s 2 & 7 2 &
65 | 20 | 45 65 | 20 | 45
(A) 1 (B) 2 (A) 1 (B) 2
©)3 (D) 4 ©)3 (D) 4
42. 42.
A D H A D H
F I M F I M
? N R ? N R
(A) P (B)N (A)P (B)N
(C) O (D) K (©) O (D) K

frdr : v wHE (43) 3 47) ¥ =Ir REl # Syoft Direction : Question number (43) to (47) have a
& T 3 B v BE ssd 81 ooft 9 e A series with four figures called the problem figures.

T g, de weh B (R 2 @ auf 8) B s Bearing series in mind, choose the correct fifth
A ’H_bpr R At blank figure (marked with ?) from answer figures.

43. v fam 43. Problem Figure

dEIha R VAREA PN KN E

ERIEEE Answer Figure
(A) B) (© (D) (A) (B) (O) (D)

NE [9] P.T.O.



44.

4S.

40.

17.

E

@|| 8 |lco| g |[ ?
I fem
OOCO| | OCoD | |ABED %
A (B (©) (D
e o

|\ s
IW fem
Ola|D)db
A  ® (© (D
g fex
QL9 ?
I fem
B SR
A (B (© (D
e o
ollo(lolhof ?
IR o=
oLl ol
A ® © O
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44.

45.

46.

47.

Problem Figure

@| 8

<1y

Answer Figure

oo csol )| B
(A) (B) < (D)
Problem Figure
O @ (|| D
||\
Answer Figure
@) SHiisz|S®
N %
(A) (B) < @D

Problem Figure

' %A

On

Answer Figure

25

5

(A) (B) <€ (D)

Problem Figure

~ )

O|lO(||O|)O
~—

Answer Figure

~~ ~—

oL ol©

(A) (B) © @D




frdfyr - e R T gl (48) | (50) # @
F ¥ 1,2,3,4 A MW E N wvmn fE Fd
#1 s&fs (A), (B), (C) W (D) 3 fm &) f |
g 2 § uw Pfvan gew &1 fm (3) W (4) # a4
& g6y fE 4 % foo s R @ g

D7

(1 (2) 3) (4)

48, TuEn fm

49, gy =

50. uwen fm
OO HH ?
3?1-‘:11;%ﬁ 2 3 4

(A) ® © @®

NE [11]

Direction : Each of the following questions (48) to
(50) consists of two sets of figures namely 1, 2, 3
& 4, called problem figures, while fig. (A), (B),
(C) & (D) constitute the Answer Set. There is a
definite relation between figure 1 & 2. Establish a
similar relation between Figures 3 & 4 by choosing
suitable fig. 4 from the Answer set.

D1 ?

(1) (2) ) (4)

48. Problem Figure

Answer Figure

XXX

(A) (B) © D

49, Problem Figure

A & 7

(M (2) 3) (4)

Answer Figure

AJO|B]A

(A) (B) © (D)

50. Problem Figure

Ot HH ?

1 2 3 4

Answer Figure

n] s (bt sty

(A) (B) © D

P. T. O,
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ENGLISH

Direction : Questions 1 to 6 :

Choose the correct word from the options to fill in

the blanks.

1, The fuel ....... of Mr. Mohan's car is very
high.
(A) consumption (B) usage
(C) rate (D) expenditure

2. I am working hard ........... the examination.

(A) to get on
(C) to get up

(B) to get through
(D) to get over

3.  Water is precious, do not ............. it.
(A) waste (B) waist
(C) west (D) vest
4.  Sheisthe girl .....co....... book 1 borrowed for
reading.
(A) who (B) whose
(C) whom (D) which

5.  God helps those who help ...............

(A) itself (B) themselves

(C) himself (D) herself

6.  Reading good books will ........... your outlook.
(A) Broad (B) Broaden
(C) Weaken (D) Vast

Direction : Questions 7 to 10 :

Choose the correct meaning of the phrases/idioms
given below.

7. At one's fingertips
(A) to take revenge
(B) matter of shame
(C) complete knowledge
(D) None

NE [16]

8. A hard nut to crack :
(A) expensive thing
(B) a difficult problem
(C) a foolish research

(D) an easy question

9. At the spur of the moment :
(A) without delay  (B) difficult moment

(C) great moment (D) None of the above

10. Mrs. Roy keeps an open house on Saturday
evening parties. You will find all kinds of
people there.

An open house means—

(A) Welcomes all members.

(B) Welcomes a select group of people.
(C) Keeps the doors of the house open.

(D) Keeps the gates open for a few persons.

Direction : Questions 11 to 14 :

Select the word that is opposite in meaning to the
wora given :

11. Numerous :

(A) abundant (B) manifold

(C) scanty (D) Comprising
12. Vibrant :

(A) vivacious (B) sparkling

(C) dull (D) spirited
13. Evil:

(A) vicious (B) corrupt

(C) wicked (D) virtuous
14. Zenith :

(A) culmination (B) summit

(C) pinnacle (D) bottom



Direction : Questions 15 to 18 :
Select the most appropriate option to fill the blanks
from the given alternatives.
15, Shimla 15 oo than that of Jalandhar.
(A) colder (B) coldest
(C) cold (D) as cold as

16. Hardly had they reached the school .............

the bell rang.
(A) when (B) than
(C) until (D) behind
17.  The police are lookig fora.......... of thieves.
(A) troop (B) gang
(C) crew (D) party
18. Theduck......coeunee. and then dived into the
water.
(A) bellowed (B) grunted
(C) quacked (D) barked

Direction : Questions 19 to 25.

The following passage contains numbered blank
spaces. Fill in the blanks with the appropriate word
given in each space.

He was happy and contented ............. (19) he
was poor. He never showed signs of frustration
............... (20) his friends who were rich were
always in distress. .......... (21) of the problems he
had to face, he remained calm and composed and
so the people liked his company. .........ccccvureeee. (22)
He went he spread happiness. [ don't know ..........
(23) he could be so happy ........... (24) he had
nothing but few comforts in life. He was hard
WOIKING ssiisivessss (25) that was the only secret of
his success in life.

19. (A) though
(C) when

(B) Although
(D) for

NE [17]

20. (A) While
(C) though

21. (A) Inspite of
(C) Even though

(B) When
(D) because

(B) Instead of
(D) Even

22. (A) Wherever (B) Whenever

(C) Whichever (D) Whatever
23. (A) how (B) when
(C) why (D) what
24. (A) When (B) while
(C) yet (D) what
25. (A) and (B) but

(C) As far as (D) So far as

Direction : Question 26 to 28.

Read the following passage and answer the
questions given after it.

A large number of people are consuming
packaged food because it has become a matter of
convenience, pleases the taste buds and fills your
stomach. Also it is important to note the quality of
packaging used for these products and whether
additives are used or not to increase their shelf-
life. For example, dairy products like milk that
comes in tetra packs comes without additive and
due to no contact with air, it remains fresh for a
long period of time. The ready to eat food products
are specially laden with preservatives and have
excess oil in form of transfats, which can be a threat
to health. The problem with canned or processed
food is that they have excessive salt or sugar.
Cooking at home is always a healthy option over
junk food. What one needs to do is a little bit of
time management and planning. We should stick to
those food items that we are genetically used to
such as Indian food cooked by traditional methods.

P.T. O.



26.  Why are more and more people consuming
packed food ? It is because :

(A) it is cheap.
(B) it is convenient, tasty and fulfilling.
(C) it is time consuming.

(D) it is good for health.

27. Ready to eat products are laden with :
(A) Proteins (B) Vitamins

(C) Minerals (D) Preservatives

28. Why do you think cooking at home is a
healthier option ? It is because .........

(A) It does not contain preservatives or
excess of salt or sugar.

(B) It helps in time management and
planning.

(C) It pleases the taste buds and fills the
stomach.

(D) It is genetically good.
Direction : Questions 29 to 33 :

Read the following passage and answer the
questions given after it :

What needs to be set right in our approach to
work. [t is a common sight in our country of
employees reporting for duty on time and at the
same time doing little work. If an assessment is
made of time, they spent in gossiping, drinking tea,
eating "pan" (paan) and smoking cigarettes, it will
be shocking to know that the time devoted to actual
work is negligible. The problem is the standard
which the leadership in administration sets for the
staff. Forget the ministers because they mix politics
and administration. What do top bureaucrats do ?
What do the below down officials do ? The
administration set up remains weak mainly because
the employees do not have the right example to
follow and they are more concerned about being in
the good books of the bosses rather than doing work.

NE [18]

29. The employees in our country :
(A) arequite punctual but not duty conscious.

(B) are not punctual, but somehow manage
to complete their work.

(C) are somewhat lazy but good natured.

- (D) are not very highly qualified.

30. The word “assessment' means :
(A) enquiry (B) report

(C) evaluation (D) summary

31. The leadership in administration :
(A) sets a fine example to the employees.
(B) is of a reasonably high standard.
(C) is composed of idealists

(D) is of a very poor standard.

32, According to the writer, the administration
in India :

(A) is by and large effective
(B) is very strict and firm
(C) is affected by red tape

(D) is more or less ineffective

33. The central idea of the passage could be best
expressed by the following :

(A) The employees outlook towards work
is justified.

(B) The employees must change their
outlook towards work.

(C) The employees would never change
their work culture.

(D) The employer-employee relationship is
far from healthy.
Direction : 34 to 40

Choose the word which best fills the blank from
the four options given below :

34, Please.........cceun. your votes in favour of me.
(A) Caste (B) Cost
(C) Cast (D) Cancel



35. Sachin Tendulkar ............. an impossible win

for India.

(A) brought off (B) brought before

(C) brought up (D) brought for
36. Shakespeare ......ccccuuee Macbeth.

(A) read (B) wrote

(C) write (D) written

37. The car driver was arrested for rough driving
and his license was :

(A) impounded (B) confiscate
(C) suspended (D) penalised
38. The police ....ccernernene. no stone unturned to
trace the culprits.
(A) leave (B) left
(C) live (D) None of the above

39. AIDS is not a disease that can be ............
through the air or by insects.

(A) circulated (B) transferred
(C) disseminated (D) transmitted

40. Had you told me of the short cuts earlier, I
............. the contest.
(A) will have won  (B) would have won
(C) would be won (D) will be won

41. Either Ram or Shyam ............... lost his book.
(A) has (B) have
(C) had (D) have been

Directions : 42 to 43.

Choose the correct word to substitute the phrasal
verbs underlined.

42. They decided to do away with the old system :

(A) remove (B) repair
(C) prepare (D) reject
43. 1 am not able to make out anything from your
speech :
(A) conclude (B) understand
(C) create (D) prepare

NE [19]

Direction : Questions 44 to 50.

Select the most appropriate option to fill in the

blanks from the given alternatives.

44,

45.

46.

47.

48.

49.

50.

There is going to be a beauty .................... in
our school.

(A) contest (B) consent

(C) conquest (D) fare
Extraordinary expenses .............. be limited

by the worth of an occassion.

(A) must (B) dare
(C) are (D) is
One could see ............... her resemblance to

her brothers.
(A) at a glance (B) a glimpse of
(C) in a glance (D) off

Disaster means :

(A) a pleasing incident

(B) distantly situated

(C) which brings happiness

(D) an unexpected event that causes loss of
lives or wealth

Paddy fields are :

(A) fields where rice is grown

(B) big fields

(C) fields where wheat is grown

(D) fertile and big fields

If that kind of thing ............ on peacefully,
there is no harm in it.

(A) go (B) goes

(C) went (D) gone

| Y — just like an angel.

(A) looks (B) look

(C) seemed (D) pretended

P.T. O.
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wifaer vme
PHYSICS

TH FR 60 km/hr F T ¥ T T FA 1. A carcovers 30 km at a uniform speed of 60
8T 30 km ! g 77 FTH 81 AL 40 km/hr km/hr. and the next 30 km at a uniform speed
9§ g gL 37 d 30 ff'“ el of 40 km/hr. The total time taken is :
gt 7w 2, A 3 @ T FW A e
aref A Y & (A) 30 min (B) 45 min
(A) 30 fe (B) 45 fae
() 75 firFe (D) 120 fire (C) 75 min (D) 120 min
T AR & B T "u" 9 ° TF T FTR 2. A stone is thrown upwards with a speed "u"
F 3 G ST 21 IR @ "3 9 9 IHE from the top of a tower. It reaches the ground
g ZHET E?, a d=R & e ﬁ'fﬂ - with a velocity "3u". The height of the tower is :
(A) 2 (B) 2 (A) . (B) 2
Pt e o o
©) 2 (D) . ©) . (D) z
I uF FU7 & A a’ﬂ?ﬂ F & FC qr F 3. When the speed of a particle is doubled, the
#F s S 3 T3 w5 ST BT : ratio of its kinetic energy to its momentum :
(A) W&a fram @ (B) g @ (A) remains the same (B) gets doubled
(C) 3mer g (D) IR T g (C) becomes half (D) becomes four times
10° Hz amafe @l Wear @@ e @@ 4. Calculate the wavelength of radio waves of
3% 10° m/s 81 3HS TR Bl : frequem:yslo9 Hz. The speed of radio waves

=t s (A) 60 cm (B) 40 cm
(C) 30 %, (D) 10 7. (€) 30 cm (D) 10 cm
X 8 cm. T8 A U9 & UH Hag W 16 5. A force of 16 N is distributed uniformly on
N & 90 TF T &9 § foafid &t @1 39 &g one surface of a cube of edge 8 cm. The
W I H HH B pressure on this surface is :
(A) 3500 Pa (B) 2500 Pa (A) 3500 Pa (B) 2500 Pa
(C) 4500 Pa (D) 5500 Pa (C) 4500 Pa (D) 5500 Pa
frg foufs & & &1 99 31feeay g 2 6.  In which of the following caes, is the work

done maximum ?
F
A 450
(B)

5
S

(A) 4 |
©) L O



10.

1I.

12.

13.

NE

faw o fom & farg A o B & 9 g feegdia
yfeder & -

10Q10010Q

A 200 B

200 20!1-/

(A) 9.23 Q (B) 15 Q
(C)30 Q (D) 100 Q
gfe gu yerd & & R et i L iR

2L R, T 3G FPRY FHE F LA
A 4A 3R A &, @ I WY @

EECE
(A)1:1 (B)1:8
(€)8:1 (D)1:2

If R wfadly I AR H IWF g TR J
7 T @ fm Swod s T wfoy
g

R
(A) 9R ®) 5
(C) 3R (D) R/3
a8 freie foed &9 w®a § -
(A) 3T T (B) e faifta

(C) ga=sRr FrRar (D) sfafia feiar
JEE & Y IGA E AT geEN Fger

i
(A) W (B) SrEaaiftar
(C) gEvfEr (D) WfRmE

oz £ wrg gf ol U Fu o 9
& AB # fewm & #wT W @
R

1y %P
(A)f (B)(g)f
©) 2f (D) Y& y
Ife & A F9E aret fuel & gam auE
2 a ol Rue &t faw i, & Rvg &
oS ot oo gt
(A) T& 9 (B) 3fi®
(C) % (D) T

[21]

10.

11.

12.

13.

The total electrical resistance between the
points A and B of the circuit shown in :
10Q10Q10Q

“ B
200 200

(A)923 Q
(©)30Q

(B) 15 Q

(D) 100 Q

Two wires of same material have lengths L
and 2L and cross-sectional areas 4A and A

respectively. The ratio of their resistances
would be :

(A)1:1 (B)1:8
(C)8:1 MYl 2
Wire of resistance R is streched to thrice

of its original length, what is its new
resistance ?

(A) 9R
(C) 3R
Galaxy in which we live is :
(A) Milky way

(C) circular galaxy

L
®) 5
(D) R/3

(B) radio galaxy
(D) irregular galaxy

Vision problem occuring in old age is known
as :

(A) Myopia (B) Presbyopia
(C) Hypermetropia (D) Anepia
A
The focal length of each half, if
the symmetrical lens of focal
length £ cut along AB : C D
|
(A) (B) (g]f
B
© 2f (D) zero

Two bodies of unequal masses posses the same
momentum. The K.E. of the heavier mass will
be ........... the K.E. of the lighter mass

(A) same as
(C) less than

(B) greater than
(D) much greater than



14.

(1

16.

17.

18.

19.

20.

NE
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CHEMISTRY
TR & NS ? 14. Electron was discovered by :
(A) SIS, 4igaa (B) Jsfa® (A)1.J. Thomson  (B) Chadwick
(C) §. TeERH (D) e (C) E. Goldstein (D) Rutherford

forem &1 TamEtE g 8
(A) CaCO; . 5H,0
(B) CaSO, . 2H,0

:
(C) CaSO, . 5 Hy0
|

(D) CaCO; . 5H,0

W T T e H T 38 I F SeH
& afghar & wed €

(A) ggHuT (B) YW 9E
(C) amrefic (D) s foram
Nat &1 gzl foam g

(A) 2,8, 1 (B) 2, 8, 8
(C)2,8 (D) 2, 8, 8, 1

SO, ¥ WeH WAN] I Halew g -

(A)3 (B) 2
(C) 4 (D) 6
CH,~CH-CH,
ch,
# IUPAC (emEgded.) am fafed
(A) 2, 2 SRS WeH
(B) 2, #frer =24
(C) 2, 2 TEWEfYE waq
(D) 2, A U=
B wd § g @
(A) Fe, Ni, Cr (B) Fe, Ni, Sn
(C) Fe, C, S (D) Fe, P, Cr

[22]

15.

17.

18.

19:

20.

The chemical formula of Gypsum is :
(A) CaCOy4 . 5H,0

(B) CaSO, . 2H,0

|
|

The process in which the red hot cast iron is
cooled immediately in cold water is known as :

(B) Quenching
(D) Bleaching

(A) Tempering
(C) Annealing
Electronic configuration of Na™ is :
(A) 2,8, 1 (B)2,8,8
(©)2,8 (D) 2, 8, 8, 1
Valency of Sulphur atom in SO, is :
(A)3 (B) 2
(€4 (D) 6
Write [UPAC name of :
CH;-CH-CH;

Ch,
(A) 2, 2 dimethyl propane
(B) 2, methyl butane
(C) 2, 2 dimethyl ethane
(D) 2, methyl propane
Stainless steel contains :
(A) Fe, Ni, Cr (B) I'e, Ni, Sn
(C) Fe,C, S (D) Fe, P. Cr



21.

22,

23.

24,

25,

26.

NE

At ot qom] & 12 =W § ©d 3T
% 11 8, @ 39 ] ¥ R soeeE
TR &

(A) 23 (B) 12
(C) 10 (D) 11
T AU & Tl H goERh Ay 4 @

(A) 152, 252 2p?
(B) 1s2, 2s2 2pb, 3s? 3p!

(C) 1s2, 252 2p®

(D) 1s2, 2s2 2p$, 3s!

THER S W TeRRE I S WSt
T a1 8, 9% ¢
(A) SO,

(C) H,

(B) S
(D) O,
foparers TE (—%—OH) Ham g
(A) tfesers
(B) #H
(C) TeiEre
(D) FEifFafers 0
THH § FEF-FET TENE & A URT S
qrel 9y é :
(A) THE HEEAlSH oY
(B) & wewaNw ay
(C) BF weHdNg v
(D) forgn wefioreh <y
PVC & @ R :
(A) +CH,~CH},
1
(B) +CH,~CH, 3
(C) €CF,~CF, -

(D) €CH,~CH ),

l
CH,

[23]

21.

22

23.

24,

25,

26.

If there are 12 neutrons in an atom and its
atomic number is 11. Then how many

electrons are present in it :

(A) 23 (B) 12

(©) 10 (D) 11

What is the electronic configuration of
elements of IlIrd group :

(A) 152 2s2 2p3

(B) 1s2, 2s% 2p5; 3s2 3p!

(C) 1s2, 2s? 2p®

(D) 1s2, 252-2p6, 3s!

The gas produced on addition of dilute
Sulphuric acid on powdered zinc is :

(A) SO, (B) S
(©) H, (D) O,

(0]
Name of functional group (_(”:_ OH)is:

(A) Aldehyde

(B) Ketone

(C) Alcohol

(D) Carboxylic acid

Type of bond present between carbon— carbon
atoms in Ethene is :

(A) Single covalent bond

(B) Double covalent bond

(C) Triple covalent bond

(D) Electrovalent bond

Structure of PVC is :
(A) £CH,-CHY,

&
(B) «CH,~CH, ),
(C) €CF,—CF,3,

(D) € CH,—CH;,

I
CH,

P.T. O.



27,

28.

29.

30.

31.

32.

33.

NE

SICECEIC]

Who proposed the term Ecosystem :
(A) A. G. Tensley

(B) E. P. Odum

(C) Carl Mobius

(D) Earnst Haeckel

In the process of Photosynthesis, the source

of Oxygen is :
(A) CO,

(B) H,0

(C) C6H 204

(D) None of these

Which component is formed by plants in the
ecosystem :

(A) Decomposer
(C) Producer

(B) Consumer

(D) All of the above
Which of the following is a plant hormone :
(A) Insulin (B) Cytokinin

(C) Thyroxin (D) Oestrogen

Power house of cell is known as :
(A) Golgi bodies
(C) Ribosome

(B) Mitochondria
(D) Lysosome

F, ratio in Dihybrid cross is :
(Ayls2:1
iIC)9:3:3:1

B)7:3:6
(D)3:1

BIOLOGY
ey v fraa sfofRe e - 27.
(A) T . =
(B) . 4. amsw
(C) et Aifey
(D) ¥ THd
YehTeT HyeteoT & iR § aifeRiom @ w28
g :
(A) CO,
(B) H,0
(C) CeH 206
(D) ¥1 ¥ F¥ &
Y qRffs @ 1 o9 W s Tm 8 29
(A) 2TUTH (B) I9HaT
(C) 3= (D) SR a+ff
fr § & 39 @ % Tew EmE R 30.
(A) T (B) WrEEHRERH
(C) aradifa (D) TR
FIH F T FEY FEAT 8§ 31.
(A) Tt (B) WrEEiHTEan
(C) T=arEm (D) wrEEEH
fewgator § F, 9@ & & 32.
(A)1:2:1 (B)7:3:6
(©9:3:3:1 (D)3:1
P T I @A I e ¢ 33.

(A) &4
(C) foreelt

(B) &
(D) 5%

[24]

Which organ is known as ‘Blood bank' :
(A) Heart (B) Liver

(C) Spleen (D) Kidney



34.

36.

37,

38.

39.

40.

NE

I T T THE AR (FEsi &) HEAr
2

(A) A (B) B

(C) AB (D) O

TR @A # eifrfeE & afleET U WA %
TR gir 8, o am

(A) #f

(B) IS

(C) Emreifar

(D) TR
TR # i IR 8

(A) FREHRE 30

(B) At art

(C) urzsfas 3t

(D) RS 3rt

e & & g9 @ 1 orelig ot F et €
(A) NO, & CO,

(B) CH, & SO,

(C) CO, & SO,

(D) SO, & NO,

I wd L Rew ST & 9 g
(A) rEErHTEar

(B) Fi=e (3R )

(C) TEEEM

(D) Tt

oo § Yo fResh gm g @
(A) S8 (B) il

(C) & (D) 8 ¥ FE &
a1 arrefas W 2

(A) U Efee

(B) WEHH SMRiE

(C) wEeraE TR

(D) it daeq

[25]

36.

37.

38.

39.

40.

Which blood group is called "Universal
donor" :

(A)A (B) B
(C) AB D)o

Oxygen in our blood is transported by a
Protein, named :

(A) Keratin

(B) Collagen

(C) Haemoglobin
(D) Myoglobin

The end product of glycolysis is :
(A) Phosphoric acid

(B) Malic acid

(C) Pyruvic acid

(D) Fumaric acid

Which of the following gases related with
acid rain :

(A) NO, & CO,

(B) CH, & SO,

(C) CO, & SO,

(D) SO, & NO,

The Grana & Stroma are the parts of which
cell organelles :

(A) Mitochondria

(B) Chloroplast

(C) Ribosome

(D) Golgi bodies

Reproduction in Bryophyllum takes place by :
(A) Root (B) Leaf |
(C) Stem (D) None of these

Botanical name of Tulsi is :
(A) Saraca indica

(B) Ficus benghalensis

(C) Phyllanthus emblica

(D) Ocimum sanctum

P.T. O,



41.

42.

43.

44,

45.

46.

47.

NE

gfegTe

HISTORY
S IE]] &N g v § g=fa g 41.
(A) SH (B) o5
(C) wrad (D) IR

dEiee! (FrEd ReyY) @ @ @
H—

(A) 1T T8 Al &l
(B) T/E@d IM Fsii g
(C) 9 =t g

(D) &3, WA g

skg o g fear Ta—
(A) B &l I =T TN
(B) WEER @ g

(C) WeIl 5 &

(D) THR 319Ns FWI

THE 379N VIS 4T
(A) 9
C) feeelt &1
TH HHSE F Haq el e a—
(A) #t T (B) R T«

(C) & Ta (D) §5 T9
fosER Ty & e fEEe @t f ?
(A) BfEe sfit g

(B) FURHE

(C) 2o fedig

(D) BRET 11 .
fereeft & Hedrelt R Fawdiar = famfor
T['q‘[_....

(A) V&SR FR

(B) SIRMYIE TR

(C) FITH &F &

(D) TR BN

[26]

43.

44,

45.

46.

Sanchi Stupa is related to which religion ?
(A) Jain (B) Buddhism

(C) Bhagvat (D) Shakt
Mohanjodaro (Saraswati Sindhu) Civilization
is discovered by :

(A) Rai Bahadur Sahni

(B) Rakhal Das Banerjee

(C) Ram Chaudhary

(D) V. D. Mahajan

Buddhism is started by :
(A) Dr. B.R. Ambedkar
(B) Mahaveer Swami
(C) Mahatma Budh

(D) Samrat Ashok

Samrat Ashok was ruler of :
(A) Bhopal
(C) Delhi

(B) Pataliputra
(D) Vidisha

Most powerful ruler of Gupta dynasty was :
(A) Shree Gupt (B) Kumar Gupt
(C) Skand Gupt (D) Samudra Gupt

Who was the founder of the kingdom of Vijay
Nagar ?

(A) Harthar and Bukka

(B) Krishnadev Roy

(C) Dev Roy 11

(D) Harihar 11

Mehrauli situated Kutubminar of Delhi is
constructed by :

(A) Shahjahan

(B) Aaram Shah

(C) Kutubuddin Ebak
(D) Babar



48.

49.

50.

S1.

52.

53.

54.

55.

NE

sfem  foFm geae i 9rTe (S g
Fa A E—

(A) e=en faest #i

(B) ead &l

(C) HEwE TIoH &

(D) fRISTE e i
AR R 7 -

(A) BWR # (B) 91 H
(C) 3mm # (D) =g #
ot & gmr &1 9m 91—
(A) e (B) WSS
(C) wiesiman (D) ARETE

HoE = B § dEwE d4—
(A) UfET TamT A AEE

(B) g T wH== Tt

(C) g9 = T

(D) W d=r 3w @

TEI@ L F T g AT
(A) A&7 wa9r H (B) fom #
(C) fewett # (D) smer #

TE BrEl A=eH W fEar man—
(A) =T 7 gm

(B) o™ W¥ W W

©) &. & fen g

(D) AT &E HHE= T g0
T W GEs Y @ T g—
(A) foorgeenit 1925 € #

(B) fawmam=wrdft 1930 8. &

(C) dmaet 1942 €. H

(D) dumeett 1947 € &

W W Y T F N d—
(A) T& et

(B) @ FeRM gER

(C) ©fren ofegd 19

(D) *d faed s

[27]

48.

49.

50.

51.

S2.

53.

4.

55,

Which Sultan is known as Mad (Sanki) Sultan
in history : ’
(A) Allauddin Khilji

(B) Balban

(C) Muhammad Tuglak

(D) Ferozshah Tuglak

Tajmahal is situated at :
(A) Chattarpur (B) Patna
(C) Agra (D) Mumbai

Shivaji's mother name was :
(A) Jijabai (B) Baijabai
(C) Chandbiwi (D) Tarabai

Founder of Azad Hind Fauz was :
(A) Pt. Jawahar Lal Nehru

(B) Mohan Das Karamchand Gandhi
(C) Subhash Chandra Bose

(D) Sir Saiyad Ahmed Khan

Chandrashekhar Azad was born at :
(A) Madhya Pradesh (B) Bihar
(C) Delhi (D) Bengal

Quit India Movement is started by :

(A) Indira Gandhi

(B) Ballabh Bhai Patel

(C) D. P. Mishra

(D) Mcohan Das Karamchand Gandhi
Rashtriya Swayam Sewak Sangh' was
established in :

(A) Vijaydashmi - 1925 A.D.
(B) Vijaydashmi - 1930 A.D.

(C) Deepawali - 1942 A.D.

(D) Deepawali - 1947 A.D.

Founder of 'Rashtriya Swayam Sewak Sangh'
was :

(A) Guru Golwalker

(B) Keshav Baliram Hegdewar

(C) Lala Lajpat Rai
(D) Atal Bihari Vajpayee

P.T. O.
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Hger, U WU H TR @ 56. Coal, Petrol are the type of resources :
(A) T3 3MYfER damE (A) Non Renewable resources
(B) T Uff arg Hamed (B) Renewable resources
(C) IEm T GO (C) Frequently used resources
(D) T WiHfae HETE (D) Eternal Natural resources
e gt w1 O oo R e 8 ? 57. Why red soil has red colour ?
(A) 390 FERRE o faqgme 89 ® (A) because it contains phosphoric acid
(B) 3§ gAY foomma g & (B) because it contains Humus
(C) 398 AEgioq e 8 | (C) because it contains Nitrogen
(D) 9% el fama e B | (D) because it contains Iron
ARIA TS F A9 Y A 8 58. The name of operation flood is known :.
(A) da Fifa (A) Yellow revolution
(B) it wife (B) Blue revolution
(C) vad Fifg (C) White revolution
(D) W FHifer (D) Pink revolution
$F O e ogel & T8 & ? 59. Which is not a variety of coal ?
(A) TRERE (B) fagfoma | (A) Anthracite (B) Bituminous
(C) femrse (D) e (C) Lemonite (D) Lignite
Tgq gE qRagd & WeH 8 60. Which is the most cheapest means of
(A) v RaE transport :

(A) Water transport
(B) T A (B) air transport
(C) ¥ WReed (C) rail transport
(D) Tg% uftagq (D) road transport

[28]



61.

62.
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64.

65.
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Ciclc i

(A) 99 37 A F TFRE

(B) agE@ A9 F THE

(C) AH T & R

(D) 3T H ST

ad § waite B @ wEe ST S 8 2

(A) T (B) e
(C) =a (D) s
a7 amERa sEm 48 8

(A) ST AT (B) &St 3@
(C) Wg 3am (D) = 3=

T & fre oy # Fred oie s sam
Wﬁﬁ%:

(A) BHETE (B) FAieHh

(C) 9fesm sma (D) anfewm

qRa # Hrgw gEARE F THYHE 8 @
(A) T (B) T

(©) feeeht (D) &g
qorer # T RuE e & ¥ @
(A) WiHfos Aot

(B) 3iaifirs amger
(C)mm

(D) 39U g4t

TSI FeuTg 97 & 59 oog o fRm 8 2
(A) Ty (B) e

(C) 37y yew (D)

[29]

61.

62.

63.

65.

66.

67.

What is Knot ?

(A) Unit of measuring wind velocity
(B) Unit of measuring air pressure
(C) Unit of measuring temperature

(D) Condition of sky

Which crop is mostly grown in India ?
(A) Wheat (B) Pulses

(C) Rice (D) Bajra

Which is not forest based Industry :
(A) Paper Industry  (B) Wood Industry
(C) Rubber Industry (D) Sugar Industry
Bhilai iron and steel industry situated in
which state of India :
(A) Chattisgarh (B) Karnatak

(C) West Bengal (D) Odisha

Weather maps are publised in India from :
(A) Mumbai (B) Pune

(C) Delhi (D) Dehradun

Which type of disaster in Bhopal gas tragedy :
(A) Natural disaster

(B) Industrial disaster

(C) Chemical disaster

(D) All of the above

In which state in India Tuticorin port is
situated ?

(A) Tamilnadu (B) Karnataka
(C) Andhra Pradesh (D) Kerala

P.T. O.
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70.
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T 8

(A) I

(B) ufdrshard
(C) St Tt et
(D) 390 qHf

WA & gaY g9l agie wfer dw @ ¢
(A) HgFT T SR

(B) Fs fmen

(C) afesrm

(D) SeHt

o STl & U FEIEY AT FRTE IT
T8 2, 3% fore W & T gEER Far @
(A) =i e

(B) e U

(C) §-9=

(D) 3-femre

[30]

68.

69.

70.

Tsunami is :

(A) Cyclone

(B) Anticyclone

(C) High Oceanic waves

(D) All of the above

Which country is biggest contributor of trade
in India :

(A) United State of America

(B) United Kingdom

(C) Belgium

(D) Germany

To all those customer who do not have

computers or internet to them they are

provided telecommunication through :
(A) Vyaparik Channel

(B) Speed Post

(C) e-Post

(D) e-Bill Post
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74.

75.
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71.

R TEE FIW & T el
(A) 1885 (B) 1900

(C) 1920 (D) 1947

Y& wfafr & e FH 4 2

(A) T -

(B) &g

(C) Tief it

(D) & St

WA T HEW ¥ TIW em w9 2
(A) T3l &

(B) G sl

(C) =Y T it

(D) et e

Hiferss Rl o qEn B4 @ 8 2
(A) THHEA

(B) Tgufd

(C) H9e

(D) warea <

fereraar wewr 94 & fow =g oy femm
a8 g ey ?
(A) 21 = (B) 25 o

(C) 30 = (D) 35 a4

[31]

72.

13

74.

79,

Indian National Congress was formed in the

year .
(A) 1885 (B) 1900
(C) 1920 (D) 1947

Who was the president of the drafting

committee ?

(A) Rajendra Prasad
(B) Ambedkar

(C) Gandhi ji

(D) Nehru ji

Who was the first president of Indian National

Congress ?
(A) A. O. Hume
(B) Surendranath Banerjee

(C) Wyomesh Chandra Banerjee
(D) Mahatma Gandhi

Who safeguards the fundamental rights ?
(A) Prime Minister

(B) President

(C) Parliament

(D) Supreme Court

What is the minimum age to become a
member of Legislative Assembly ?
(A) 21 years (B) 25 years

(C) 30 years (D) 35 years

P. T. O.



76.

77.

78.

79.

80.

NE

S MIEC)

ECONOMICS

e =3 o & gy fefofas & 3 e 76.
g ?

(A) gt e (B) 3w 3

(€) T e (D) & 3

fraferfis & & S-m anféfs frg &1 ageme 77
27

(A) T o

(B) *1fds wemor

(C) 9riforss SFeamT

(D) I9a a4t

‘fovem @i e’ freferfaa & 9 fhad gy
@ g ?

(A) SHIfS® §EH

(B) =& HEAT

78.

(C) it ET=A

(D) 3w T

freafofian & 3 g af & wra & =€ el 79,
Aif’ St g T ?

(A) 1990 (B) 1991

(C) 1992 (D) 1993

Tg-U HE @ o R 80.
(A) T T e s 3T ¥ grafRd 81
(B) W& & R ad fwa ¥ wafm 81
(C) & T e =aq o 291 ¥ Sar &)
(D) & 9 g el Wt fwe § &€

[32]

Per capita income refers to which of the

following ?
(A) Whole income (B) Average income

(C) National income (D) Net income

Which of the following is the criteria of

measurement of economic development ?
(A) National Income

(B) Economic Welfare

(C) Social Welfare

(D) All the above

‘Education and Health' belong to which of

the following ?

(A) Social infrastructure
(B) Economic infrastructure
(C) Physical infrastructure

(D) All the above

In which of the following year India has

adopted the "New Economic Policy' ?

(A) 1990 (B) 1991

(C) 1992 (D) 1993

Multi-national Company means :

(A) A company whose work relates to
production.

A company whose work relates to sale.
A company whose business is spread
over several countries.

A company whose shareholders are
spread in whole world.

(B)
©

(D)



81.

82.

83.

84.

85.

NE

T

MATHEMATICS
*0+tan” 0 -1 *0+tan 01
cos BT fm H A B 81. The value of - + .?9' is
sin" 0 sin~ 0
(A) sin? 0 (B) cos? 6 (A) sin? 0 (B) cos? 0
(C) cot? B (D) tan? 6 (C) cot? 0 (D) tan? B
c«t.)siZO: +C?Sj 70: p— 8. Value of C(.)Si 2O:+c?s-,2 7,0: .
sin” 59° +sin” 31 sin” 59° +sin”~ 31
(A) 0 (B) 1 (A)0 (B) 1
1 1
© 3 (D) -1 (© (D) -1
m % &g 99 & forg e 83. Which value of m, equation
2x +my—-4=0, 2x+my-4=0,
3x-7y-10=0 x-7y-10=0
1 B A & @ ? has no solution ?
2 4
2 d (A) T (B) —
(A) 3 B) 15 3 10
14 14
14 14 e ==
(C) -— (D) — © -3 (D) 3
3 3
EFL L X3 —4x2 - Ix + 10 & BIED g 84. Zeroes of the polynomial x3 — 4x2 - 7x + 10
are :
(A) 1, 5,2 B)I1,-5,2
A) L5, -2 (B) 1,5, 2
©)-1,5,2 (D) 1, -5, -2
(C)-14,5,2 (D) 1, -5, -2
x—x>+2 )
XD ¥ #H W 9% g1 99 & 85.  Which rational expression should be added
K] X-x2+2 x+1 0
xz_l W_ﬁ?f 9 to X(Xz—]) to get Xz—l !
X 2 X 2
A 3 ®) = ) 3 (B) =
(C) 2x (D) x? (C) 2x (D) x2
[33] B T.0.



86.

87.

89.

90.

91.

NE

5 7. B ot g9 & &= § 3 ¥ & g
W RE e & =g R

(A) 4 9. (B) 6 3.
(C) 8 &, (D) 10 &,
% @Ed ded @S9 14 ¥4 81l ard

= 16 99 a9 @Ee ded H Fi aHyS
1320 ¥H.2 31 9 ied =9 7

(B) 16 I,
(D) 8 &

(A) 14 .
(C) 7 &
frdt g9g = dHER i F9E wE TS BEr

H owE g & @ 39 wng gd w1 IE
FHT 7AW

(A) 30°
(C) 60°

(B) 45°
(D) 90°

sin O (cosec 6 — sin B) & HH g

(A) sin? 0 (B) tan? 0

(C) cot? 0 (D) cos? 0

T fyal & Uw 99 W W, FH

fogs w 2 () @ TR W 29 (W) 3
# i 2

(A) 2 (B) 172

(C) 4 (D) 1/4

g ot T A €, 79 @ WW @

eRar gnft fo S & S=Afes 3TeT-31e &)
|

(A)3—6§
1

(B)ﬁ

o 364

© 3%

(D) 3Ww ¥ § HE T

[34]

87.

88.

89.

90.

91.

Length of Chord which is at a distance of 3 cm.

from the centre of circle of radius 5 cm. is :
(B) 6 cm.
(D) 10 cm.

(A) 4 cm.
(C) 8 cm.

The height of a hollow cylinder is 14 cm. If
external diameter is 16 cm and total curved
surface area of the hollow cylinder is 1320
sq. cm., then its internal diameter is :

(A) 14 cm. (B) 16 cm.
(C) 7 cm. (D) 8 cm.

The angle of elevation of the sun when the

length of the shadow of a tower is equal to

its height is :
(A) 30° (B) 45°
(C) 60° (D) 90°

The value of sin 6 (cosec 6 — sin 6) is :
(A) sin? 8 (B) tan? 0
(C) cot? 0 (D) cos? 0

Two coins are tossed simultaneously, then
the probability of getting head on one coin

and tail on another coin is :
(A) 2 (B) 172
© 4 (D) 1/4

Sita and Gita are friends, what is the
probability that both will have different
birthdays (ignoring a leap year) :

|
365

1
364

364
365

(D) None of these

(A)

(B)

©



92.

93.

94.

95.

96.

97.

NE

gl o veer g @ oy, faeir @ amg o
& T R T s e, g @ ey fe
g W G AR, g # oaiwe g
T gt ?

(A) 50 Td
(C) 70 =4
2 ¥ W@ B awh & i @ e e
de gt
(A) 30
(C) 45

(B) 20 7§
(D) 30 =

(B) 40
(D) 50

Iy A R B @ e wq=E & W
(AUB)C =

(B) A¢ ~ B¢
(D) A€ ~ B

(A)AC o BC
(C)A u B
8 T, fi & e F et A T 1 A
e & few M A o1 W € 2

(A) 64 (B) 128

(C) 356 (D) 512

l:sin 49°

cos41° ?
—+ F OO B :
cos4l

sin49°

(A) 2

(B) 4

©)1

(D) 300 H & R

UH T GHEOT ax2 +bx +c=0 & H
s g9 T e €, gl
(A) b2 —4ac=0

(B) b2 > 4ac

(C) b? < 4ac

(D) b? + 4ac = 0

[35]

92.

93.

94.

9s.

97.

Five years ago age of Sunita was thrice the
age of Vineeta. After 10 years Sunita's age
will be twice the age of Vinita, what is the

present age of Sunita ?
(A) 50 years (B) 20 years
(C) 70 years (D) 30 years

How many two-digit numbers are divisible
by 2 :

(A) 30 (B) 40

(C) 45 (D) 50

If A and B are two non empty sets then
(AUB)C =

(A) A€ _ B€ (B) A¢ A~ B€
(C)A U B€ (D)AC A B

How many spheres of iron having radius 1
cm. can be made by melting a sphere of iron
having 8 cm. radius ?

(A) 64 (B) 128

(C) 356 (D) 512

Value of ’:sin49° + 0.05410 ]2 is
cos41®  sin49°

(A)2

(B) 4

©)1

(D) None of these

A quadratic equation ax? + bx + ¢ =0 has no
real roots, if :

(A)b? —dac =0

(B) b2 > 4ac

(C) b* < 4ac

(D) b2 + dac =0

P.T.O.



98.

99.

100.

fedt obim I & wg@ St & 9 @

2
(A) 90° (B) 180°
(C) 270° (D) 360°
TR A : 8,3, -2, ... % WIH 20 T &
I &
(A) =790 (B) 970

(C) 979 (D) =779

F TEfhe & 9RY & =W 1.6 m g1 uRa
& e # 21 g9t o &)1 99 UF e |

afra feeet GRS st -
(A) 3.636 km. (B) 6.336 km.
(C) 6.633 km. (D) 2.640 km.

98.

99.

100.

136]

The sum of pairs of opposite angles of a cyclic

quadrilateral is :
(A) 90° (B) 180°

(C) 270° (D) 360°

The sum of first 20 terms of AP : 8, 3, -2,

(A) =790 (B) —970

(C) 979 (D) =779

The diameter of a cycle wheel is 1.6 m. The
wheel revolves 21 times in one minute, then

how much distance will the cycle cover in

one hour :
(A) 3.636 km. (B) 6.336 km.
(C) 6.633 km. (D) 2.640 km.



NTSE STAGE — 1 (2017)
ANSWERS KEYS (SAT)
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>WOOWO0O>P000T®>
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B
B
C
B
D
A
C
C
C
A
C
A
D
A
B
A
D
C
C
A
A
C
D
A
B
B
A
C
A
C
A
B
C
D
B
B
A
A
B
C



HINT & SOLUTIONS (SAT)
PHYSICS
1. (C)
60km/h— 40km/h—

A B C
— 30km —¥«—30km—»

T= tAB+tAC

_ 30 30 1 3
=4 _-_—_,=
60 40 2 4

=75 min

5
4

2. (D)

"

TIT7TTTITTTTTTTTTTTTTTTTT
(-3u)? = (U)? +2(-g)(-h)
= o’ =u’+ 2gh

:>8u2=2gh
2

= h:ﬂ
g

3. (®)
Let Vo = 2V1

kg V2myvf v
pp  mv; 2



©
V=vA

8
5= 319" _ 5 3m=30cm

10°

(B)
|F=16N

)

8 cm

Q&
S

8 cm
_E_ 16
A 8x8x107%4

[P =2500Pa]

—0.25x10%*Pa

(D)
W =Fscos6
when 6 =0°, = cos0°=1(maximum)

~ W =Fs is maximum

F
—_—

—S 5 s correct

(A)
10Q  10Q 100

20Q 20Q

RAB :?

1 1 1 1
_ = — 4+ —
Rag 30 20 40
1 4+6+3 13

Rag 120 120

120
Rar = === = 9.23Q
AB ™13



10.

11.

12.

_pL
17 an
px2L
R,=P*=
27 A
Ry _pL
R, 4A px2L
&:E 1:
R, 8
(A)

On increasing the length of the conductor by stretching, the new resistance is given by -

R'=(n)’R

Wh

R'=(3)°R[n=3]

R'=9R

(A)

ere nis no. of times of stretching

Our solar system lies in “Milky way” Galaxy

(B)

“Presbyopia” Occurs in old age. ‘Presbyopia’ is natural part of the ageing process. It

happens due to hardening of the lens of eye to focus light behind rather than on the retina

when looking at closer objects.

©

by lens makers’ formula

1
f

In case -1

1)

= :(n—l){Ri—— : where n is refractive index of lens.
1

R



f, = 2f = 2f

13. ()
P1=P2
\/2le1 = \/2m2K2
myKq =myKs
if my >my

m Ky
my K

S0, so, if my >m then —

K2 >K1

CHEMISTRY

14, Electron is discovered by J.J. Thomson
15. Gypsum is CaS0,4.2H,0
16. The process in which the red hot cast iron is cooled immediately in cold water is known as
guenching
17. Na' :>1§2 2s* 2p°
8

18. SO,
X+(-2)x2=0
X=4
19.
H3C_|CH_CH3

CHy
2-methylpropane

20. Stainless steel contains Fe, Ni, Cr
21. Number of proton = 1
Number of electron = 11
Number of Neutron = 12
22.  General electronic configuration of Ill group is ns® np*

23.  Zn(s)+H,SO,(ag)——>2nSO,(aq)+H, T

24,

N
H;,C—C—O—H
Carboxylic acid

25.
H H
\ /
c=C
/ \
H H
Double covalent bond
26.

JtCHz—(lZH
cl

Poly vinyl chloride (PVC)

MATHEMATICS



81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

cos’f+tan’0 -1
Sin®0
= cot® 0+ sec? 0 —cosec’0
=sec’0-1
=tan’0

cos? 20°+cos? 70°
sin® 59°+sin? 31°
cos? 20°+sin? 20°
cos?31+sin?31
=1

kS
S|
N

=1z

(¢) |Ho

OOII\),\?J
HE

14
Mm=—
3

X3 —4x? —-7x+10
= (x—1)(x* -3x-10)
=>X-D(X-5)(x+2)
Xx=15-2
X+1 Xx-x*+42
2 -1 x(x2-1)
X2+ X—X+X2-2
X(x* -1)
2x2 -2
X(x* -1
.2
X
MB =+/5% —3?
MB=4cm
AB =8cm

2n(R+1)h=1320
(8 -+1)14 = 1320
2x§ «14(8+1) = 1320

(8+r)=15
r=7
Diameter = 14

tan@:E
4

0 =45°

sinB(cosecH —sino)
=1-sin’0

=cos’ 0

HT, TH

PE)=



91.

92.

93.

94.

95.

96.

97.
98.

99.

100.

Only one way to have same birthday

~.P(E) _ 364

365
Sunita=y Vineeta = x
(y-5)=3(x-5) (y + 10) = 2(x + 10)
3x-y—-10=0 2x-y+10=0
x =20, y =50

10, 12,14 ...... 98
98=10+(n-1)2
88=2n-2
n=45

A° NB°

{cos41+ cos41}2
cos4l cos4l
2°=4

C

B

S= 2—20 [16+ (20 —1)(-5)]

=10[16-95]
=0 x -79 =-790
Distance covered

=21x60x 2n1;26

:21><60><§><1.6

=6336m
=6.336 km



15.
22.
29.
36.
43.
50.

10.

11.

12.

13.

14.

NTSE STAGE =1 (2017)

ANSWERS KEYS (MAT)

D 2. C 3. B 4, D 5. B
C 9. D 10. A 11. B 12. D
A 16. B 17. D 18. C 19. D
A 23. B 24, D 25, B 26. C
D 30. C 31. C 32. A 33. C
D 37. B 38. C 39. A 40. C
A 44, C 45, B 46. D 47. A
B

HINT & SOLUTIONS (MAT)

P,223,4 5,627
=125

Common difference 3, 5, 7, 9, 11
28+11=39

10, 18, 28, 40, 54, ?, 88
8 10 12 14 16
54+16=70

X3, X3, X3,....
108x3 = 324

12, 3%, 5%, 7%, 9% 117
Square of odd numbers is 81

Raw material — Clay

1 comes in 2"- water

lack of second results in the first — sanitation
Thermometer shows temperature

An oven is an appliance to keep food items hot
Similarly, a refrigerator keeps food-items cold

First is made up of second — steel
1% revolves around 2" — earth
1% + 135° clockwise direction — North East

+1, +1, +1, ...
OFNFTJT

13.
20.
27.
34.
41.
48.

or0O0>»>»00

14.
21.
28.
35.
42.
49,

OU>»wmwmw >



15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

+1, -1, 41, -1...
UQBHOHOF

+1, +1, +1....
FAMOUS

A-4,C-5E-9,P-7,T=7
Ans 455978

In the given code
A=2,B=4,C=6,..2=52

So, ACT =2+ 6 + 40 =48 and
BAT=4+2+40=46

Ans — 46

All except throat are sense organs — Throat

Brother of mother — Uncle
Uncle’s son — Cousin

Grand son

Let Akash’s age today = x years

Then, Akash’s age after 1 year = (x + 1) years
Therefore x + 1 = 2(x - 12)

=>X+1=2x-24 =25

Lets son’s ager be x

Then father’s age is 3x

Five years ago, father's age =3x -5
And son'sage=x-5

S0, 3x—-5=4(x-5)
=3Xx-5=4x-20 =15

Given that seventh day of a month is three days earlier than Friday

= Seventh day is Tuesday
= 14" is Tuesday
= 19" is Sunday

26" Jan — Saturday

Day in between 26" Jan to 14™ Feb = 19
So offday =5

Therefore Saturday + 5 = Thursday

(Rank from bottom) + (Rank from top) — 1
26+7-1=32

Position from right = 14
Total = 40

So = 40-14+1=27
South-West

10 meters

By observation — C

8+6+2+4=20



32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

9x3=27
7+5+1+1+3+4=21
By observation — Six

By observation — A (4, 6, 8)
By observation — 2

By observation — 4
13+19=32

4x8=32

SoC-20

X1, X2, X3, x4, x5. X6
480 x 6 = 2880

1+2=3
2+3 =5
3+5=8
5+8=13

5x(6+7)=63
Ans (A) -1

A+F=K

1+ 6

+5+5

Ans D - K

By observation (A)
By observation (C)
By observation (B)
By observation (D)
By observation (A)
By observation (D)
By observation (C)

By observation (B)
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